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Auto Fit for: Latest | Angle 
Angle = A*sin(B*(t-t0)+C)+D
t0: 498.006
A: 0.05934 +/- 0.0005202
B: 5.454 +/- 0.04955
C: 4.530 +/- 0.03115
D: -0.001609 +/- 0.0006340
RMSE: 0.001233 rad

Auto Fit for: Latest | Angle 
Angle = A*sin(B*(t-t0)+C)+D
t0: 496.998
A: 0.05858 +/- 0.0004398
B: 5.498 +/- 0.04326
C: 5.261 +/- 0.02119
D: -0.001385 +/- 0.0005320
RMSE: 0.001202 rad

Auto Fit for: Latest | Angle 
Angle = A*sin(B*(t-t0)+C)+D
t0: 496.000
A: 0.05894 +/- 0.0004114
B: 5.523 +/- 0.03199
C: 6.070 +/- 0.01589
D: -0.001753 +/- 0.0003513
RMSE: 0.001328 rad

Auto Fit for: Latest | Angle 
Angle = A*sin(B*(t-t0)+C)+D
t0: 495.001
A: 0.05876 +/- 0.0003602
B: 5.423 +/- 0.02551
C: 0.6461 +/- 0.01758
D: -0.001984 +/- 0.0002994
RMSE: 0.001182 rad

Auto Fit for: Latest | Angle 
Angle = A*sin(B*(t-t0)+C)+D
t0: 493.930
A: 0.05868 +/- 0.0003579
B: 5.425 +/- 0.02780
C: 1.047 +/- 0.01900
D: -0.001411 +/- 0.0003503
RMSE: 0.001166 rad

Auto Fit for: Latest | Angle 
Angle = A*sin(B*(t-t0)+C)+D
t0: 492.939
A: 0.05905 +/- 0.0006180
B: 5.534 +/- 0.06284
C: 1.839 +/- 0.03326
D: -0.002086 +/- 0.0007902
RMSE: 0.001178 rad

Auto Fit for: Latest | Angle 
Angle = A*sin(B*(t-t0)+C)+D
t0: 491.995
A: 0.05918 +/- 0.0004073
B: 5.496 +/- 0.02868
C: 2.968 +/- 0.01376
D: -0.001270 +/- 0.0003431
RMSE: 0.001333 rad

Auto Fit for: Latest | Angle 
Angle = A*sin(B*(t-t0)+C)+D
t0: 491.021
A: 0.05864 +/- 0.0004553
B: 5.471 +/- 0.03239
C: 3.912 +/- 0.02178
D: -0.001691 +/- 0.0003828
RMSE: 0.001491 rad

Auto Fit for: Latest | Angle 
Angle = A*sin(B*(t-t0)+C)+D
t0: 490.003
A: 0.05937 +/- 0.0006153
B: 5.432 +/- 0.05921
C: 4.643 +/- 0.03598
D: -0.002886 +/- 0.0007679
RMSE: 0.001260 rad

Auto Fit for: Latest | Angle 
Angle = A*sin(B*(t-t0)+C)+D
t0: 489.022
A: 0.05948 +/- 0.0004180
B: 5.461 +/- 0.03753
C: 5.522 +/- 0.01725
D: -0.001892 +/- 0.0004731
RMSE: 0.001189 rad

Auto Fit for: Latest | Angle 
Angle = A*sin(B*(t-t0)+C)+D
t0: 488.030
A: 0.05924 +/- 0.0003511
B: 5.457 +/- 0.02679
C: 0.08966 +/- 0.01309
D: -0.002123 +/- 0.0002873
RMSE: 0.001139 rad

Auto Fit for: Latest | Angle 
Angle = A*sin(B*(t-t0)+C)+D
t0: 487.008
A: 0.05838 +/- 0.0004693
B: 5.466 +/- 0.03751
C: 0.7667 +/- 0.02439
D: -0.001745 +/- 0.0004056
RMSE: 0.001518 rad

Auto Fit for: Latest | Angle 
Angle = A*sin(B*(t-t0)+C)+D
t0: 486.025
A: 0.05978 +/- 0.0008635
B: 5.352 +/- 0.07718
C: 1.717 +/- 0.04460
D: -0.0004806 +/- 0.001055
RMSE: 0.001470 rad

Auto Fit for: Latest | Angle 
Angle = A*sin(B*(t-t0)+C)+D
t0: 485.013
A: 0.05857 +/- 0.0005627
B: 5.487 +/- 0.05373
C: 2.372 +/- 0.02363
D: -0.001761 +/- 0.0006765
RMSE: 0.001298 rad

Auto Fit for: Latest | Angle 
Angle = A*sin(B*(t-t0)+C)+D
t0: 484.021
A: 0.05868 +/- 0.0003570
B: 5.421 +/- 0.02756
C: 3.244 +/- 0.01386
D: -0.001389 +/- 0.0002887
RMSE: 0.001162 rad

Auto Fit for: Latest | Angle 
Angle = A*sin(B*(t-t0)+C)+D
t0: 483.011
A: 0.05851 +/- 0.0003509
B: 5.476 +/- 0.02840
C: 3.968 +/- 0.01848
D: -0.001407 +/- 0.0003115
RMSE: 0.001131 rad

Auto Fit for: Latest | Angle 
Angle = A*sin(B*(t-t0)+C)+D
t0: 482.032
A: 0.05794 +/- 0.0004449
B: 5.608 +/- 0.04699
C: 4.811 +/- 0.02613
D: -0.0007142 +/- 0.0005666
RMSE: 0.0009482 rad

Auto Fit for: Latest | Angle 
Angle = A*sin(B*(t-t0)+C)+D
t0: 480.996
A: 0.05879 +/- 0.0004702
B: 5.486 +/- 0.04521
C: 5.471 +/- 0.02028
D: -0.001589 +/- 0.0005677
RMSE: 0.001165 rad

Auto Fit for: Latest | Angle 
Angle = A*sin(B*(t-t0)+C)+D
t0: 480.003
A: 0.05869 +/- 0.0003497
B: 5.449 +/- 0.02619
C: 0.06578 +/- 0.01402
D: -0.001378 +/- 0.0002721
RMSE: 0.001135 rad


